
WRITING 

WRITING TASK 1 

You should spend about 20 minutes on this task. 

The diagram below shows the process for recycling plastic bottles. 

Summarise the information by selecting and reporting the main features, and 
make comparisons where relevant. 

Write at least 150 words. 

How plastic bottles are recycled 

@ Producing end products 

@ Raw material 

® Heating pellets to
form raw material 

@ Recycling centre: Sorting 

@ Compressing 
into blocks 

i 
@ Crushing 
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Test4 

WRITING TASK 2 

You should spend about 40 minutes on this task. 

Write about the following topic: 

In the future all cars, buses and trucks will be driverless. The only people 
travelling inside these vehicles will be passengers. 

Do you think the advantages of driverless vehicles outweigh the 
disadvantages? 

Give reasons for your answer and include any relevant examples from your own 
knowledge or experience. 

Write at least 250 words. 
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Sample Writing answers 

TEST 4, WRITING TASK 1 

This is an answer written by a candidate who achieved a Band 5.5 score. 

?lastil bottles are one of the most mate.rials used in the world. and re.liding is a re.a\\i important 
subjut to t� to minimiz..e. the waste. 

/\round the streets, in front off houf>e.f> and re.f>tauranfa if> pof>sib\e. to see some bins. to lOl\ut 
organil and ruide. waste. The ie.\\ow in is the lorre.d one to trash re.lide. things. sulh af> plaf>til 
bottle.fl. /\fte.r trashed, a trul\:� lO\\e.ds at \east onle. a wee.IC and \eave in a spe.lifil p\ale. to separate. 
what is ruide.b\e. and what is not. For that reason, is re.a\\i important to separate. be.fore. trash, this 
me.ans some.one. will not spend to mani time separating. 

\Z-e.liding is a big prole.ss. after se.parate.d the. waste should be. lOmpre.ssing in b\ol\Cs to fali\itat the. 
lrushing and washing prole.ss, that should be. done. be.lause. to mani durti lOme. with the. bott\e.s 
and lrushing it ma\Ce.s e.af>ie.r to produle. a ne.w mate.rial. 

C.rushe.d, washe.d and the.n going to the produdion of p\astil pe.\\e.ts, it is lan be. fina\\i he.ate.d to 
form a raw mate.rial. 

But what lan be. produle.d using ruide.d bottles? Ne.w bottles, lOntaine.rs, bags,, -shirts. pen, tois 
and to mani othe.r things. 

'Se.arlhing, it is possible. to se.e. how big is the waste prob\e.m around the. world and how not to mani 
gove.rmne.nts inve.sts in thif> f>ituation. 'Starting into the. houses, avoiding to use. p\astils in e.ile.ss 
and separating the. wrre.d things in the. lorrut bins, is a good wai to \Ce.e.p the. e.nvironme.nt safe.. 

Here is the examiner's comment: 

In this process task, the response includes an introduction and covers the main 
stages of the recycling process. However, there is significant irrelevant detail 
included, e.g. in the last paragraph, which reduces the score. 

The stages are set out in order and there is good overall progression with some 
effective linking devices [such as I For that reason] and cohesion [what is ... what 
is not I tha� but the errors reduce the band score here. The candidate tends to use 
lists rather than a full range of cohesive devices. 

Vocabulary is adequate with some original vocabulary [minimize the waste I 
separated I containers I environmen�; however, much is taken directly from the task 
[compressing I to form a raw materia�. There are errors in spelling [in I bin I durty I 
dirty] but they do not reduce communication. 

Grammatical structures are limited and level of error is high [after separated I after 
separating I should be compressing I should be compressed I it is can be I it can 
be]. For a higher score, improved accuracy is needed. 

The score for this response could be improved by including a summary of the main 
stages of the process, e.g. plastic bottles are collected, sorted, broken down and 
made into new products. 
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Sample Writing answers 

TEST 4, WRITING TASK 2 

This is an answer written by a candidate who achieved a Band 4.0 score. 

1'ne. Advante.g of Drive.le.s Ve.hides 

first of all number of ve.hide.s is inGare.se. dai after dai whiGh me.ans ever dai the. world gets more. 
drive.rs then be.fore.. If we. admite. that alots of people. pre.for to use. publiG transport we. do not have. 
ani doubts that mani people. use. the. vehicles because. of advantags of driving. 

1'ne. histo� shows us that the. human liKe. to move. from plaGe. to another for mani re.asns and the. 
alwais fo\\ pleased when the. rid. 1'nis dais people. have. all Kind of vehicles biGKS, Gars, motor ... e.k 
be.Gause. the.i a\\ have. a different advantage.. 

people. needs also Gan not me.et at be. found in one. ple.aGe. for that reason people. need to move. 
from a piece. to another plaGe. to me.et thie.r needs whiGh me.ans the. advantage. of moving from point 
to anther point will be. e.r-ist for ever. 

World has bee. Ghange.d a lot and mani people. have. got great jobs with big salaries. 1'ne. Gan e.asli 
fund thie.r ve.hid and be.Gause. people. get foe.ling boring if the. used to some. thing the.i alwais 
pe.re.for to Ghang thie.r vehicle. from time. to time. 

Finalli I thinK it is ve.� hard to believe. that the. drive.rle.ss ve.hide.s with outweigh the. disadvantages 
be.Gause. people. alwais find drive. more. and more. give. thie.r life. meaning and add more. advantage. 
to it all Kind of vehicles give. happe.ne.ss to a lot of people. that the.i Gan not thinK about lossing it 

Here is the examiner's comment: 
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Most of the ideas in this response are not relevant to the question. It mainly talks 
about the need people have to go from place to place and how people like different 

types of transport. However, there is a position expressed in the final paragraph. 
A title is not required in Task 2. 

There is some attempt to organise the ideas and there are some basic cohesive 
devices [First of all I Finally], but there is inaccuracy and a general lack of 
coherence. There is no clear progression. 

There is a high density of error in the use of vocabulary in terms of spelling and 
word choice [eas/y fund thier vehicl I perefer to chang thier]. Sentence structures 
are very limited, although there are some attempts at subordinate clauses [because 
they all have a different advantage]. 


